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A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

I = (—6.12530 x 10**u3? 4 1.02963 x 10%°u*! + - .. +2.34036 x 10%°b + 4.69152 x 10%°,

— 1.57092 x 10?5432 4 3.30476 x 10%°u>! + .- +9.36144 x 10%°a + 1.45111 x 10%®, 33 — 3% + ...

IV ={(a, —v>+b—2v—1, v® + 202 +v +1)

* 2 irreducible components of dim¢ = 0, with total 36 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L
It = (—6.13x10**u32+1.03 X 10%5u31 +. - . +2.34 X 10*°b+4.69 X 10%°, —1.57 X
10%54324-3.30x 102543 4+ - . 4-9.36 X 10%5a41.45 X 102, 433 —u32+...4+12u+8)

(i) Arc colorings

- ()

o= (o)
o= ()
0.167808u32 — 0.353018u3 + - - - — 2.39523u — 1.55009
a7 = \0.261725u%2 — 0.439945u3! + - -+ 4+ 2.01891u — 2.00462
o= ()
0.429532u32 — 0.792963u3! + - - - — 0.376322u — 3.55471
as = \ 0.261725u%2 — 0.439945u3 + - - - + 2.01891wu — 2.00462
0.334706u32 — 0.0742812u3 + - - - + 3.75000u + 2.50288
as = \0.0757738u%% — 0.0652588u3! + - - - — 4.16452u — 1.47047
0.0320196u32 + 0.277867u3! + - - - + 5.92497u + 1.20624
as = \ —0.211499432 + 0.571258u31 + - - - + 6.09759 + 3.97229
—0.429532u%2 4 0.792963u3! + - - - 4+ 0.376322u + 3.55471
a1 = \ —0.0675857u%2 + 0.312561u3 + - - - + 2.94382u + 0.902830
0.309620u32 — 0.669262u3! + - - - — 2.20116w — 2.87870
ag = \0.249910u%% — 0.483907u3! + - - - 4+ 0.866167u — 2.07146
(ii) Obstruction class = —1

(lii) CllSp Shapes __ _ 60635423650415331489185849 32 + 108124405345856702791639919 31 +

48300791 16421901454334%4?5592:)75}75136&§8§§§§§§?§§??&67905148%9%07175136350804609973980

-t 23403587568175402304986990 U u+ 11701793784087701152493495




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy B+ 2P+ 4+ 3u+1
Ca2,Cy B w120+ 8
¢s3, Cs, Cg P+ 8P+ 4+ 1lu+1
c7,C10 w160+ 1
Cs u? + 14u® 4 4+ 32u+ 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, ¢4 Y3 -8y 4 11y — 1
c2,Cy y* + 21y + ... — 304y — 64
c3,Cs5,Cq Y3+ 36y%2 4+ — 29y — 1
c7, €10 Y — 14y 4+ 432y — 1
Cs y* + 14y + -+ 340y — 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.287842 + 0.9781151
= 0.995506 — 0.2503451
= —0.990032 + 0.1662521

—1.68836 — 2.024721

—12.19123 4 3.159871

= 0.287842 — 0.9781151
= 0.995506 + 0.2503451
= —0.990032 — 0.1662521

—1.68836 4 2.024721

—12.19123 — 3.159871

= —0.258728 + 1.0156901
= 0.614647 + 0.0622461
= —0.555531 + 0.9024941

1.90081 + 2.947881

—6.37142 — 4.007791

= —0.258728 — 1.0156901
= 0.614647 — 0.0622461
= —0.555531 — 0.9024941

1.90081 — 2.947881

—6.37142 4 4.007791

= 0.044652 + 1.0644101
= 0.01862 — 1.723711
= —0.12788 — 1.499131

3.40289 — 3.094571

—6.42907 4- 2.761861

0.044652 — 1.0644101
= 0.01862 + 1.723711
= —0.12788 + 1.499131

3.40289 + 3.094571

—6.42907 — 2.761861

= 0.818675 + 0.3921921
= 0.407864 — 1.1220201
= —0.568824 + 0.5898391

—2.18443 4 2.930571

—13.2700 — 5.98771

= 0.818675 — 0.3921921
= 0.407864 + 1.1220201
= —0.568824 — 0.5898391

—2.18443 — 2.930571

—13.2700 + 5.98771

= —1.163260 + 0.1739591
= —0.077899 — 0.9406411
= —0.05060 + 1.499561

5.10374 + 0.600801

—6.85884 + 0.135091

= —1.163260 — 0.1739591
= —0.077899 + 0.9406411
= —0.05060 — 1.499561

5.10374 — 0.600801

—6.85884 — 0.135091




Solutions to I}

V=1(vol + y=1C)

Cusp shape

= 0.004841 + 1.1816001
—0.834891 — 0.0022371
0.261591 + 0.6050551

3.34637 4 1.371481

—3.58776 — 2.922001

0.004841 — 1.1816001
= —0.834891 + 0.0022371
= 0.261591 — 0.6050551

3.34637 — 1.371481

—3.58776 + 2.922001

= 1.169540 + 0.2469021
= 0.090452 — 0.9915671
= —0.17482 + 1.553161

4.94269 + 5.665261

—7.31949 — 5.141661

1.169540 — 0.2469021
0.090452 + 0.9915671
—0.17482 — 1.553161

4.94269 — 5.665261

—7.31949 + 5.141661

—0.360189 + 1.2145901
—1.071120 — 0.0764441
0.414527 — 0.3869271

2.58252 4 3.892441

—4.89744 — 3.426741

—0.360189 — 1.2145901
= —1.071120 4+ 0.0764441
= 0.414527 + 0.3869271

2.58252 — 3.892441

—4.89744 + 3.426741

= 0.513708 4+ 1.1591001
= 1.164090 — 0.1120671
= —0.819767 — 0.8334301

0.26767 — 7.941721

—10.29455 4 8.513011

= 0.513708 — 1.1591001
= 1.164090 + 0.1120671
= —0.819767 4 0.8334301

0.26767 + 7.941721

—10.29455 — 8.513011

= 0.354082 + 0.6313531
= 0.44471 —1.787641
= —0.534495 — 0.3825841

—2.82990 — 0.894391

—12.3753 + 7.12091

0.354082 — 0.6313531
= 0.44471 4 1.787641
= —0.534495 + 0.3825841
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—2.82990 4+ 0.894391

—12.3753 — 7.12097




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.659340 + 0.0564141
—0.636628 — 0.4424581
—0.073834 + 0.2185961

—0.946260 — 0.0881531

—9.34082 — 0.776091

—0.659340 — 0.0564141
= —0.636628 + 0.4424581
—0.073834 — 0.2185961

—0.946260 4 0.0881531

—9.34082 + 0.776091

0.000493 + 0.6366881
0.198636 — 0.5141301
—0.289339 4+ 1.2201801

2.22875 4 2.675281

—2.73278 — 2.263661

0.000493 — 0.6366881
0.198636 + 0.5141301
—0.289339 — 1.2201801

2.22875 — 2.675281

—2.73278 4 2.263661

—0.40839 + 1.417131
0.780933 + 0.2689161
—0.19663 + 1.645691

10.43260 + 6.009271

—4.11461 — 3.318091

—0.40839 — 1.417131
0.780933 — 0.2689161
—0.19663 — 1.645691

10.43260 — 6.009271

—4.11461 + 3.318091

0.34967 + 1.437381
—0.805445 + 0.2500211
0.04143 + 1.562631

10.72190 + 0.460431

—3.63720 — 1.596051

0.34967 — 1.437381
—0.805445 — 0.2500211
0.04143 — 1.562631

10.72190 — 0.460431

—3.63720 + 1.596051

0.64547 + 1.351441
1.222060 — 0.0086981
—0.27678 — 1.651051

8.4689 — 12.18551

—6.56707 4 7.634721
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0.64547 — 1.351441
= 1.222060 + 0.0086981
= —0.27678 + 1.651051

8.4689 + 12.18551

—6.56707 — 7.634721




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —0.60403 + 1.374291
a = —1.203410 4 0.0004981
b= 0.11865 — 1.508381

8.95423 + 5.757251

—5.65390 — 2.889701

u = —0.60403 — 1.374291
a = —1.203410 — 0.0004981

8.95423 — 5.757251

—5.65390 + 2.889701

b= 0.11865 + 1.508381

u = —0.470095

a = —0.116243 —0.842528 —11.7170
b= —0.355337




II. I? = (a, —v®*+b—2v—1, v®+ 202 +v+1)

(i) Arc colorings

e ()

w= (o)
= (o)
ar = (v —|—2v—|—1>
v
0
11 +2v+1
as = \0v24+20+41
v +v
g = \p?24v—1
v2 4 v
as = \—-v-—1
ay = (—v —27}—1)

ag = (v —|—2v—|—1>

(ii) Obstruction class =1

(iii) Cusp Shapes = 2v? + 5v — 11



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! ud 4 u? -1
Co, C9 u3
€3 ud—u? +2u—1
€4 ud —u? 41
3 2
Cs5,Ce u’+u”+2u+1
C7 (u _ 1)3
3
€8, €10 (u+1)

10



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C4 v -yt 2y —1
C2,C9 y3
3 2
C3,Cs5,Ce Y +3y +2y—1
3
C7,C8,C10 (y - 1)

11



(vi) Complex Volumes and Cusp Shapes

Solutions to I7

V=1(vol + y=1CS)

Cusp shape

v = —0.122561 + 0.7448621
a= 0
b= 0.215080 + 1.3071407

1.37919 — 2.828121

—12.69240 + 3.359141

v = —0.122561 — 0.7448621

a= 0 1.37919 + 2.828121 | —12.69240 — 3.359141
b= 0.215080 — 1.3071401
v = —1.75488
0 —2.75839 —13.6150
b= 0.569840

12



ITI. u-Polynomials

Crossings u-Polynomials at each crossing

“ (u® +u? — 1) 4+ 203 4+ + 3u+1)

C2, Cg wd(u? —ud? 4 12u 4 8)

€3 (u® —u? 4+ 2u — 1) (u®* + 8u3? + - + 1lu + 1)
€4 (u® —u? + 1)(u® 4+ 203 4+ -+ 3u+1)

s, Cg (u3+u2+2u+1)(u33+8u32+~~~+11u+1)
¢t ((u—1))(u* —4u® + - — 16u® + 1)

C8 ((u+1)*)(u® 4+ 1402 4 - +32u+ 1)

10 (u+1)*)(u® —4u®? + - — 16u* + 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1yca W - +2y— D> —8yP 4+ + 11y —1)
Ca, Cg P (3% 4+ 219%2 + -+ — 304y — 64)

3,5, Cq (v® 4+ 3y + 2y — 1) (y* + 369> +--- — 29y — 1)
€7, €10 (y =) (y> - 149> + -+ 32y - 1)
%8 ((y = 1)) (y™ + 145> + - + 340y — 1)
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